
26th M
arch                                                     

26th M
arch                                                     

W
rite dow

n the reciprocal of 3
W

rite dow
n the reciprocal of 1

There are tw
o sets of traffic lights on 

Johnʼs route to Sw
indon. 

W
ork out the probability both sets of traffic 

lights w
ill be green.

There are tw
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W
ork out the probability that exactly one 

set of traffic lights w
ill be green.

A salesm
an sells 140 cars in 2009.

H
e sells 189 cars in 2010.

W
ork out the percentage increase.

C
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/h into m
/s.
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